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Section 1 - General Knowledge and Current Affairs

No. of Questions: 30

1) Which of the following options is NOT a tributary of the
Mahanadi river?

2) Provisions in the Article 243W of the Constitution of India
deals with which of the following subjects?

A) Continuance of existing laws and Panchayats

B) Constitution of Finance Commission

C) Administration of Union Territories

D) Powers, authority and responsibilities of Municipalities
2) QIQG1EL QAIIAR 1A 243W 63 8QI Q4Q8I AYREE FGeR
QRIQ 6aAG 920 ALY A6a?

A) 2986 2198 ¥e° UBINEY0Ra FRs80s!
B) 21¢ 2691 QRIIR

C) 629 4196 28R gFea ga1as

D) 6910Q°2I950 ARG, JRINNE ¥Q° QIEQ

3) Kanika movement from Odisha is associated with which
of following incidents/movements of the Indian History?

Jallianwala Bagh Massacre
Chauri-Chaura Incident
Peasant Uprising

A
B
C
D) Khilafat Movement

e . s N N

3) 65410 9Q 26ARR FCRAYE (g AGTR AGIIAR 694
AR 2RIRE AT 8G9 ?

A) FRAFGN A MRS
B) Q1001-09al 254l
C) 98 Q6912

)

D) YRITS 2I6RIRG

4) Which freedom fighter from Odisha joined the non-
cooperation movement and also became the first woman to
be a member of the Odisha Legislative Assembly?

A) Parbati Giri
Gandharvi Devi
Sarala Devi
Jambubati Devi

—_— el

B
C
D

4) 639IQ 699 IRIGSI YO 2AL6LIT UCRIRAER €IS
6QRRY6R 19° 654 FURARIR QoA AFRI AQQY F14l 62ARTER?

A) €I9Q1 6091
B) l9Q1 6091
C) dIonl 6991
D) QIRee! 691

5) “A cultural heritage site that suffers severe damage in the
Earthquake and Flooding or Storm”, was the theme of which
of the following activities held in Odisha in the year 20207

A) 1st UNICEF- World Heritage Committee Meet 2020
B) 2nd BIMSTEC Disaster Management Exercise-2020
C) Nations Decade on Ecosystem Restoration Exercise-
2021

D) International Council on Monuments and Sites Meet
2021

5) 9090 Ad2IeA GF4I6a AFE FIAYE VNIRRT IR 679
QNIRRT SAQY Al "ga%t 19" ARy QY $R6R 9Rea BB
Qg 291 99 ArYEQ H52Y 97

A) gan gaeaq - 9 9524 @ 630@ 9090

B) §612 BIMSTEC Radie 0R0IRel IgaQIag -90 90
C) R6R1A80 JRREIA QUIRIF-9090Q QIg 248

D) 9I0@199° ARQ Q AP Q8L €7 909

6) Which of the following options is CORRECT for the given
statements?

(i) The bee hummingbird of Cuba is the smallest bird in the
world.

(ii) Ostrich with the scientific name as Struthio camelus is the
largest bird in the world.

- TRUE and (ii) - FALSE
- TRUE and (ji) - TRUE

A) (i)
B) (i)
C) (i) - FALSE and (ii) - TRUE
D) (i)

— e
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6) QUQIRYRI AR AR FYRYe AUQ 6RQ Gaed A0R A6e?
() Qe & 2fFQe 6eaf QPuIQ A0l 6819 AWl |

(i) 289 AIZIR 6TRAR Al LG AEANA 6298 QAR Q9920
Qa1 |

A
B
C
D

) (i) O 9e” (i) @R

) (i) OR 9e° (H)G

) (i) g4 e (i) OR

) (i) @R e (i) ga

7) The First Khelo India University Games were held in which
of the following cities of the Odisha state?

A) Puri

B) Bhuwaneshwar
C) Rourkela

D) Cuttack

7) 929 6st6ml adel 9EaadT 66q BRI QNG 6R% JLRER
AQRG 62IRAM?

A) Qe
B) 9968498
C) QIReEaa
D) @%@

8) Which of the following options is CORRECT with respect
to the Nagpur Session of the Indian National Congress?

(i) The Nagpur Session of the Indian National Congress was
held in the year 1920.

(i) Pandit Gopabandhu Das, Bhagirathi Mahapatra,
Harekrushna Mahatab were the delegates from Odisha
present in this session.

|
|
|
|

A) (i) - FALSE and (ii) - FALSE
B) (i) - TRUE and (ii) - TRUE

C) (i) - FALSE and (ii) - TRUE
D) (i) - TRUE and (ii) - FALSE

< » f

8) AAGIA FIBIG G°69AQ AIFYQR 2AJ6ER ATN6A FIRYS F1IQ
609 Gaed Q0] 266 ?

(i) eC90 ARLAER ARSI FISIR A6FAR QYR ZYERER
ARG 622! |

(i) 92 269861 980 69109] QIQ, RITRS ARIAIG, 269G
ARIPIQ 6EAI0 gE5Y QIRER ROES 26w

A) () §R%° (i)
B) (i) R &° (i
) () ga 9 (i
) (

C (i
i) OR 48° (i

8a
0]
oR
D ga

)
)
) g9

9) Which of the following Vitamins is also known as
Cobalamin?

A) Vitamin B12
B) Vitamin B7
C) Vitamin B3
D) Vitamin B1

9) FORYE AaQ 624 FGIFR & sRININIAR QIR6a A 9Gde ?

10) Match the following mountain passes in List | with the
carresponding places that they connect in List Il.

List| List

Pass Connecting Places
(a) Chang La Pass |(I) Wayanad and Kozhikode
(b) Zoji La Pass (i) Lahaul valley and Spiti valley
(c )Thamarassery Pass |(1ii) Leh and Pangong Tso
(d) Kunzum Pass | (iv) Kashmir valley and Ladakh
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10) faRge ekl | @ 980296 Rl Il @ A°Ys AIReR Q86
6719 @03, 600 62716 YD 9813 |

QIRR! | SRal I
ddge g8 ARYER
(a) 9% QI Gdaa (i) GIQUIAIQ 19° 6RIRERIES
(b) 6815 QI GRQE (ii) NILGR RAGYR 1¢° GE QAR
(ii
(

(c) AQIQIBAR TRA | (iif) 6AR 1Q° QUSRS 62
(d) @Aga GGaa iv) RI410 AASRI IQ° AR

A) (a)
B) (a)-
C) (a)-
D) (a)-

(). (b) - (iv), (c ) - (iii), (d) - (ii)
(iii), (b) - (iv), (¢ ) - (i), (dl) - (ii)
(iii), (b) - (i), (¢ ) - (i), (d) - (iv)
(iii), (0) - (iv), (c ) - (i), (d) - (i)

11) Nai Roshni' is the scheme started by the Government of
India, for leadership development amongst women from
which of the following sections of society?

A) Tribal women in naxalite affected areas
B) Minority Women

C) Women from drought prone areas

D) Asha Workers

11) 'eQ QG 6208 QOS AT FIQI AR 62ARYQ
CBRIFING FRIEA 679 TR IR IR 6AIRR!, ANRA FORYS
60Q 96 Qisl 92 FIF 9697

A) PERIET JNIRS 2ERR TR ATRIFITT
B) Qaling Afeie

C) ¢19% 99¢ 28Ra NZRIAIee

D) 28l Qe

12) Which of the following devices is used for measuring
mechanical force or power transmitted by a rotating shaft?

) Transmissometer
) Chronometer
) Dynamometer

A
B
C
D) Gradiometer

12) GORYS RUFAEIYER ARIQ 60T qsiq (6QU65GE) QI T

gaide aiae a3 aql 98 AIdel el Q4age 94?

A
B

gigfisaifica
QeaIfica

)
) 6

C) @IRRIEAReR
)

D) 6g@6fica

13) Which of the following options is CORRECT with respect
to the statements given below?

(i) In the year 2020, the Archaeological Survey team of the
Indian National Trust for Art and Cultural Heritage (INTACH),
has discovered a 500 year old temple in Nayagarh district of
Odisha.

(i) This 500 year old temple approximately 20 feet in height
is dedicated to Lord Shiva and has been found in upstream
of Bhargavi river.

i) - TRUE and (ii) - FALSE

A) (i)

B) (i) - TRUE and (ji) - TRUE

C) (i) - FALSE and (ii) - FALSE

D) (i) - FALSE and (i) - TRUE

13) &qea @mﬁ]mé@r@q@q@@ QQEE‘GE FRG0 AR 696
Jagd 40q &6e ?

(i) 2020 NTLIEQ VAN FIFIA @R IQ° AIPGER FOR 0
(INTACH) @ ge0/3@ Q6996 @ 6E4Ia LI0@ GRI6Q YR 500

Qd gQdl 77 2IF9IQ 2083 |

(ii) 919 20 g¢ el 858 9@ 500 oF godl 1Ra KOQIR Jog
R9GQP 6210F Y9° TR A91R AUAFLEadEl 69YRIg TG

A)
B)
C)
D)

(i) O 9e* (i) am
(i) OR 9&* (ii
(i) 9 09 (i
(1) am e (ii

14) Which of the following options is CORRECT with respect
to the given statements?

(i) Scheduled Castes (SC), who constitute 16.6% of our
population as per 2011 Census, have historically suffered
social disabilities and educational and economic deprivation
arising out of them.

(i) The objective of Pradhan Mantri Adarsh Gram Yojana
launched by the Government of India, is to ensure integrated
development of the selected villages with more than 50% SC
population.

i) - TRUE and (i) - FALSE
i) - FALSE and (i) - FALSE
i) - TRUE and (ii) - TRUE
)-

A) |
B) (
C) (
D) (i) - FALSE and (i) - TRUE
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14) QuAIRYRI F98 A6 FRYS Y 699 8998 Q0K 26T
?

(i) @GP0 @18 (9aQ), 6LAIEE 2011 RAAERI AN A
AR 16.6% A3, FoALR QUNEA 6ATRE ORI AITR

2RAGI IQ° FAIGG 9e° AU6HER QBo0IR AFHIR 6RIR8E |

(i) UEE AT FIQI 2R FIARYR QRUKNRT 2Qd G
6QIRAI0 Q64 626 50% @ 2@ AGYER IG (VQT) SR

Q88 AeRINIe gINgeaa ANge Sald 9RAe adal |

A) (i) OR e (i) gm
B) (i) @a 1a* (i) gm
) (i) O] 9o (i) O]
) (

i) g 4<° (i) OR

c
D

15) In May 2021, Forest Department of Odisha sighted a
critically endangered species (As per IUCN Red list) called
‘Gharial' surrounded by 28 hatchlings in which of the
following rivers in Odisha?

A) Subarnarekha

)

B) Rushikulya

C) Mahanadi

D) Vamsadhara

15) 6712021 60 354619 FF'R IR 28 T 19T TRl 699 TSl
‘PR AFe e gea SRadie g9ei@ (IUCN 609 QIRa
29QIa1) 5] 694aR, Y2l 63410 GRS AUQ 674 A1 AILER

CQHIRAIRLR ?

A) Qedsas|
B) o@gmul
C) FRIRa1
D) Q°auial

16) Which of the following is NOT one of the major causes
for regional disparities or imbalances in India?

A) Inadequacy of Economic Overheads

B) Unequal distribution and variation in use of natural
resources

C) The patterns of the rural settlements

D) Political Instability

16) BIRYS FUIQ 6346 AINGEA 2BRS 63ACN TG 2ARE ARl
IR gs R106 gew?

A) 26500 AR84R QYR 29QRR!
B) 2QAIR 9443 ¥° gIgoe AR Q1921060 G6S!
C) gI1é @8 Q6192 AR

)

D) QIe6RGe 2des!

17) Odisha bagged two awards in the Swachh Survekshan
2020 awards announced by Ministry of Housing and Urban
Affairs in India. In this regard, Berhampur city of Odisha
received the award in which of the following categories?

A) Best Fastest Mover Medium City

B) Best Medium City in Innovation and Best Practices
C) Best Self Sustainable Medium City

D) Best Medium City in Citizen Feedback

17) 910960 §2 Gdle 99" A2aIER AR AFGING T8I 62186

9@ A69EE, 2020 gRUAEA BEFEI 9RE 9N ARW | 97
QGegaTea (3490 990 A20 H9AYe AU 629 AR JAge
6219& ?

A) Q69IeQ 9069 GG41R F1IF ALQ

B) 280Q Ie° A6AIRE 2RYIA6Q AIIRE ARIA ALQ
C) Q69Ia9 &ie And Fie A2a

D) QIHGR FPIA96R A6RIRE FRIA QLR

18) Which of the following is an INCORRECT statement with
respect to the procedure for removal of Supreme Court
judges in India?

A) The procedure for removal of Supreme Court judges in
India is termed as Impeachment

B) Article 310 of the Indian Constitution deals with the
provision for the removal of the judges of Supreme Court
C) A Judge of the Supreme Court shall not be removed
from his office except by an order of the President

D) The judge of the Supreme Court can be removed on
the ground of proved misbehaviour or incapacity

18) QIEG60 YIT6RITA FQIRUBAIRT 26IRR YU A6
GORge AUQ 6260 1@ @R 398 2687

A) RIR96Q QBRI MR FRATT 201NSI 9FAUF
ARIZGEIG (RAPEAR) 6QIR QRIKIN

B) QIa91a QISR 29I 310 Q6T MR G005
201091 JIR QUSRI A2 Q1Y Q6a

C) QIa0de f6ad QU610 gEAERITa @6 Q0I008g I
QAIRAQ 26 QRUAR AR FIF

D) 2QAQIeRd GRela gAId @9l 2SAs! 2RISR 61T
NI SINUET 201 FUIRIR A/
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19) Read the following statements and choose the
CORRECT option with respect to the natural states of
matter.

(i) At certain temperature water exists as a gas, a liquid, and
a solid simultaneously.

(ii) 'Triple Point' is the term for the state of water that exists
in all the three states simulatenously.

19) AoRYe A9RGHY 0Rg IS AQIEA YIgEe gl AR A0R
Q@adq Q183 |

(i) 598 GIIAIGIER Gn U9 AITER GHIY, AR I6° @ @09 Q196
6QHILN |

(ii) 'Gon 04g' 6208 $7a 1@ 86 AR 99 (66) A2l FealE 3T6a
694Q1q AR |

A) (i) gm e (if) @al
B) (i) OR9s° (i) OR
C) (i) g 4 (i) OR
D) (i) OR e" (i) @m

20) Which of the following options is CORRECT with respect
to Balika Samriddhi Yojana launched by Government of
India, for the given statements?

(i) Balika Samriddhi Yojana was launched in India on 15th
August 2005 with the objective of raising two girl children.

(i) This Scheme gave a monthly amount of Rs.1000/- to
mother giving birth to a girl child of B.P.L. families.

i) - TRUE and (ji) - FALSE
i) - TRUE and (ii) - TRUE

i) - FALSE and (ji) - FALSE
)_

i) - FALSE and (ii) - TRUE

A (
B) (
C) (
D) (

20) GaIAIRgel 398 A RIS JORIAT FIRI 2IAR FAIAINYSI
QAR AR 6AIGAI AYR6A FIRYE AR 679 Sae A0R 265 ?
(i) QeQl QA& 6AIFR1 15 21618 2005 60 QIRGEA §R6 @Yl ABIaT
JGeaIgé @R8I Q6REI6R A QARSI |

(ii) 2 6aierl §049R URSIRQ IR @AY ABIG] & 6QRYR! AI'g
qId@ €00 0/- OF 6QREN |

A)
B)
C)
D)

(i) @

(i) OR 9e° (i) OR
(i) @ <" (i) @M
(i) @R 9 (i) OR

0 e (i) @m

21) Which of of the following options was the intial name of
the popular ‘National Programme of Mid Day Meal in
Schools' before it was renamed in October 20077

A) Golden National Independence for Nutritional Support
to Primary Education

B) Rashtriya Sampoorna Swasthya Aahar evam Prathmik
Shiksha Abhiyaan

C) National Programme of Nutritional Support to Primary
Education

D) Rashtriya Purna Madhya-Aahar evam Prathmik Shiksha
Abhiyaan

21) 26Qe9 2007 63 gAAINRAE 6291 gIQ AIRYe Jeaqee
IR 6996 6AIRTH ‘MIARR 6TIgIA AT FQ 6@ TR 9] WA
gIade QI amI?

A) gefie Sa1g 939 921061 019 9Ld FIG1a RIRS!
B) aigia agd 99y 21219 ¥e° gaIfie dal 28aie

C) giefie dnig 98aa A290IA FI1A FIdige

D) Q1gia g4 Fl-2I2IQ e gaifie 881 2eeIR

22) Read the following statements and choose the
CORRECT option.

(i) Organizations like National Society at Balasore, Utkal
Sabha at Cuttack, and Utkal Hitaisini Samaj were formed by
the intellectuals of Odisha to disseminate political ideas
among QOdia people.

(ii) In the Calcutta session of the Indian National Congress
in 1886, Raja Baikunthanath was the delegate from Odisha,
who attended the session on behalf of National Society at
Balasore.

i) is FALSE and (ii) is FALSE
i) is TRUE and (ii) is FALSE

i) is TRUE and (ii) is TRUE
)

(
‘(
(i) is FALSE and (i) is TRUE

A)
B)
C)
D)
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22) FORge AQAgee U3 e° A0R] Geadq QIeg |

(i) 632 6RIGS FRIER AINEATR FBIXIAI TR QRS TR BF4IQ
QBFIQIFIER QIEAIRER FIVTE AFIF, FIRER QYR A I&° AFR
F60841 201R QF 2°F08 F0R @A

(i) 019 AdQI6a ARGIE FIB1R R6GAR ARG ZRJERIRER
Qlel 65QaRIel BF8Ia 9Oy 26n, T @ QIERga 86 HIaRIR
(ARG ST AYEIFRER 6T 6RRY6RI

A) (i) 99 268 1Q* (ii) @ 269
B) (i) OR @65 <" (i) 9 26s
) (i) OR 268 9a° (i) OR 268
) (i) gm 265 9e* (ii) OR &6e

C
D

23) Magnus effect is depicted in which of the following
phenomenon or examples?

A) Cat always landing on their feet when jumping or falling
from heights

B) Sudden Cloudburst in summer season

C) Spinning ball flying as it is dropped

D) Air Bubble shining like a rainbow

23) AIRYE AR 674 A9¢ @Y A6 FId gaie 5gd
AQUIRE?

A) 099 626101 3¢ 6% ANAEA FEAR AER6R 6ACIAT
Q1260 29008 FER

B) 91§ 66 20IQ 2R TITQ!

C) @G0 Qn @g8 6907 1@ 1 9Ge

D) Qg 08 ¢md Q0 IR QaR

24) Bhitarkanika mangroves is located in which of the
following states of India?

A) Odisha
B) Punjab
C) Assam

D) Kerala

24) A0RARI §UIGLI LR (FIFEAIN) BIRYS AR ARSR 689
QAUMER 2FQ 26T ?

A) 6G4l
B) agie
C) aQq

25) The Indian Preamble borrowed the ideals of Liberty,
Equality and Fraternity from the constitution of which of the
following countries?

A) USA

B) United Kingdom
C) France

D) Australia

25) QIG1a uee (GRI9R) FARYe FUIQ 694 694 QRN
070!, ARG IS° YIGRA AIXE G268 FR6R ?

A) 942

B) 9AIR60G @arae
C) g1

D) @eqael

26) Provision under which of the following amendments of
the Indian Constitution had frozen the total number of seats
in the assembly of each state and the division of such state
into territorial constituencies till the year 2000, at the 1971
level?

A) 89th Amendment Act of 2003
B) 32nd Amendment Act of 1973
C) 42nd Amendment Act of 1976
D) 81st Amendment Act of 2000

26) 16916 ARUIFQ FYAYS AIQ 699 EAIIS 21668 1971
9969 @¥ 2000 A4S GERHR QMR FURARIEA 671G AR QG
¥e° 4300 Qi QEIeRY 2R GAPRNERIE 2I6aIRe
(6719Q) FAcRAYMI ?

A) 2003 @ 89 @ QSIS ZRYFAC
B) 1973 @ 32 061 Q641G 2RyGA
C) 1976 Q 42 Q¢ LEARIS ARJFAC
D) 2000 @ 81 69 Q6ERIF A

27) Which of the following pairs is INCORRECT with
reference to the World Geography terms and its definitions?

A) Megalopolis - Several adjacent metropolitan areas form
a huge urban area

B) Estuary - The wide end of a river where it meets the
ocean

C) Map projection - The relationship between distance on
a map and the distance on the earth's surface

D) Mesa - A large flat-topped but steep-sided landform
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27) SQRGe qrQ 674 613G 39 Qealie QRIAR1 Y8° 6AAIATA
QR 2AEQ G 26T ?

A) 6AGIERIONY - A6GR G5 ARY ARIRIA 688 IR 8IR
QAIQUER F0R Q0T

B) QIR - 9% 5610 AZE 918 6QL0IER 2 AG] 6aGEIN
C) (I63g 6916827 - 9@ FIRTG6R 905! 1e° a1 6 o8|
QIR Qe

D) 6612 - IR @ I-69 @9 016 a1 AUGTE

28) In terms of geographical area, which among the following
continents is the largest?

A) South America
B) Europe

C) Africa

D) North America

28) 66l6RIRR 609 QER AURYS AACRIYPR IR 6@

216066 A0/Q 9F 26 ?

A
B
c
D

) Q86 2I6naa
) 96RIQ
) AT
) Q89 260

29) Tenth Schedule of the Constitution of India deals with
which of the following provisions?

A) Disqualification on ground of defection

B) Forms of Oaths or Affirmations

C) Acts and orders related to land tenure, land tax,
railways, industries

D) Powers, authority and responsibilities of Panchayats

29) Q19519 QRRIRG Q8F 29991 RARYS eBIGER AR 6RaG
Q20 Iy Q6Q ?

A) 2R99% 2RIRER CAINSI

B) €102 @)l 9% Qa6

C) of QIdy, 87 @9, 609, g AR QIY 9e° Fead
D) 081999399 806!, JJead e QPR

30) Who among the following was known as Mother Teresa
of Western Odisha?

A) Jambubati Devi
B) Prema Devi
C)
D)

Parbati Giri
Krishna Devi

30) AAAYS Qg @9 Q8lE BEAIA F9Q 656 IR FEIGEI ?

A) QIGae1 6241
B) 697l 6091
C) Q1661 61a
D) 18l 6941

Section 2 - Reasoning Ability

No. of Questions: 20

31) The next term in the series 2, 7, 14, 23, 34, is

A b~ Oy
~N o Ww

oO0wWw>X>

31)2, 7,14, 23,34, 90 90981 LIS 6298

com>
b Oy
~ ] O W

32) S and R both started from the same point and in the
same direction. S turned to her left and R to his right. S
walked for 5 km in the direction in which she turned and on
the other side R stopped for sometime and then walked for
only 3 km. Then S turned to her left and R to his right. Then
they walked 15 km and 9 km ahead respectively. What is the
minimum distance between S and R?

32) S 9@° R Q9@ QAIR SR Ie° Qrlie Qd6a SRQl 2Ias
QAQ6RI S GIF QIF I R OIF Q128 2gq FA6AI S 609 Fa6a
gRgem 64 692 @96a 5 @.0 GIRem 19° 2y AIgsa R @8 Aaa
QIR 2193 67 99° 0I'U6R AIg 3 7.7l 9IReR 9'U6a S Aeq AN
e° R 90 Q12169 PIRsmI 9I'D61 627167 D26 15 @.8 9e°
9.8 20g SIREMI 6669 S 9e° R ARIER A9TE] 996! 69667

D)
)

A) 108,
B) 8.4
C) 128
D) 15&.

i)] f)]
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33) A set of statements is given.

(i) Ginny is facing North direction.
(i) Hemant and Ginny are facing perpendicular directions

Which of the given set of statements should be used to
decide the solution to the problem: Is Hemant facing South
East?

A) Only (ii)

B) Both (i) and (ii) together

C) Not possible to decide even with both (i) and (ii)
D) Only (i)

33) G398 U@ 649 TUKIFG|
(i) 64 a9 70q < /585!
(il) 62618 ¥6° & ] (0as0dgaIR) dag ¢ F08S!

QAR QRIS 30 R AR FAUARYS FGAYFR AUQ 679
699 QYeeIa QIFR! A5]

62718 @86 < G9g ¢ @083 @7

A) 6@eq (ii)

B) @@ (i) 9e° (ii)

C) @84 (i) 19 (i) 480 Fl GIR 6591 AR §6%
D) &aa@ (i)

34) You are given a pair of statements.

A) Hour hand is between 6 and 7.

B) Minute hand points towards 6.

Which of the following questions can be answered by using

the given statements?

A) Which day of the week is today?
B) What is the time now?

C) What is the date today?

D) Which year is this?

34) 208G 99 641G A9 TAUARE!
A) 291 Q41 6 96° 7 C1IEQ AT |
B) A8Q @4l 6 aIgg 9498 @Q&|

QAR FRYFY LI 28 FIRYS AU 699 IGQ A89
GEIRIRARL?

A) Q9199 IR 689 G987
B) QErIR QA0 §'41?

C) e Q0% @'€?
D) Y2l 6@ eF?

35) Pointing to a lady in the photograph, Seema said, "Her
daughter's son's grandmother is my mother." How may
Seema be related to the lady's grandson?

A) Daughter

B) Niece

C) Grandmother
D) Aunt

35) T6G16Q G68 ALRIF e@%ﬂa QIR Q26M 64, ‘GIE SR gaQ

>

) 2
B) QI&ie1
C) 6w6s¢l
D) fIaQt

36) In an examination, 42% of the students failed in physics,
30% of the students failed in mathematics and 18% failed in
both. What is the percentage of students who passed in
both?

A) 46
B) 52
C) 54
D) 48

36) 4@ QQIAI6A 42% 8IQ 0QIF FRIRER 6TR 62IRTY6R, 30% BIQ
GEI06R 6CR 62IRYER I6° 18% ANAER 6TR 62RYSAI 6569
6860 YGUIG 8Ig AL 260 Y 6TRACA?

Som>
[ -
gcﬁ'mm

37) The difference in price when a good is sold at a profit of
4% and at a profit of 8% is ¥ 12. What are the selling prices
of the good in the two cases respectively?

A) 312 and ¥ 324
B) ¥ 324 and ¥ 336
C) %256 and ¥ 244
D) 300 and ¥ 312
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37) 6666967 6@l8d @ GAY 4% MIE6R ¥e° 8% MR I
24, 1% 9@ MR Q1Y T 12 A1 6069 DRAFET AT 68G6R
FO90 G R 6a68 629 ?

A) %312 9° F 324
B) ¥ 324 4e° 336
C) 256 4a° T 244
D) %300 9s° ¥ 312

38) A set of statements is given.

(i) Seeta is mother of Kush.
(ii) Kush is grandson of Latika.

Which of the given set of statements should be used to
decide the solution to the problem:
What is the relation of Seeta with Latika?

A) Only (ii)

B) Both (i) and (ii) together

C) Not possible to decide even with both (i) and (ii)
D) Only (i)

38) G99 IR 699 FAULIRE|

(i) Q151 Q8 Al
(ii) 98 PG QIS

AAQYIQ AFNIS Ta @59l QIR F2URSI FRYFR FUIQ 62T
QIR AR TR :

NEelw 92 JoIF AR @'6?

A) 629 (i)

B) @@ (i) e (i)

C) Q@ (i) 9a° (i) 980 I T8 6091 AR @LG%I'
D) 6299 (i)

39) Which of these options can be judged from one of the
remaining three options?

A) Mahesh is facing towards North
) Kiran is facing towards South

) John is not facing towards East
)

B
C
D) Kiran is not facing towards West

39) 208a 6AIE AR9q ARIA AR IE TREYE AU 6aRcE F0I9
AAARDEL?

A) (624 AR 299 4 2988
B) @a¢ @f¢ B9 ¢ @083

C) 6] 99 @0Q L @R Q1918

D) @ad 0fia 89q ¢ @4 q1918

40) What is the number that must be added to each of 8, 11,
16 and 21 so that the resultant numbers are in proportion?

(=g
wo BN

40) 8, 11, 16 99° 21 J6G4R6a 60d AT 62181 TSl 2IEYS,
Q121 QIal IRITR AW 2GAIGER AFL?

B0 0F
wo kM

41) You are given a pair of statements.
A) Mark and Steve have a total of 109 marbles.

B) The number of marbles with Steve is a two digit prime
number.

Which of the following questions can be answered by using
the given statements?

A) What will be the remainder left when number of marbles
with Mark is divided by 3?7
B) What will be the remainder left when number of marbles
with Mark is divided by 2?
C) What will be the remainder left when number of marbles
with Steve is divided by 37
D) What will be the remainder left when number of marbles
with Steve is divided by 4?

41) 21005 2 6913 398 FuIAIRE!
A) QI8 98° §Q & QIYU6Q 6716 109 & QISR F|

B) 8Q & QI86Q 24l FIIRA AT IR 99 2w T84 6¢laa
QG 26T

FuaIee G98gEY @ieaIn @8 AYRYE AUQ 694 99Q 288
QULIRARL?
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A) QI8 Q168 291 AITR LG 3 TIRI TOS FAITER AEET
6@60 QI Q@7
B) QIR Q668 29I QAR A°FIG 2 TR TS FAITER AEES
6@60 QIR Q@Q7?
C) 88 /%64 29I FIFA L°HIG 3 FI01 F0D FAITER 26T
6060 Qla QEQ7?
D) 8Q QIg6a 2l AIGR A°HIQ 4 TX FOS FAITER AREEY
6@63 Qla 9297

42) R starts walking North. After a while, he turns to his right
and continues walking. Then he turns left and continues
walking. Finally after walking a distance of 1 km, he turns to
his left again. In which direction is he walking?

A) West
B) East
C) North
D) South

42) R @a0q IM4I 2Iea a6m| &8 A719 060 62 QIR Q12169 9
SIMQI FIR AYEM| BI'UEA 6Q QY I TR VIR AFEM| 6ATEQ
1 2.8 990! 9IRS J69 62 GRIIA BIF QIF1 2R gRERI 656X 62
69 674 Q06Q CIQRR?

b
«Q
3. 2

ﬂ

O @
9D 9
[+2)]

&

D

)
)
)
)

o

él

43) Introducing a man, Revathisaid, "His son is my
daughter's brother". How is the man related to Revathi?

A) Father

B) Grandfather
C) Brother

D) Husband

43) 364 Qi85 000 KRR 60901 AL 64 "GIw Q2 691 Zaa
QIRI" 6969 6AT Q4B 6RR91w A2E FAR 607

A) Qi
B) 219l /6968
C) AR
D) Qi

44) In a certain code language ABACUS is coded as
BACASU.How is the word BANANA coded in that language?

A) ANNAAB

) BAANAN
C) ABANAN
D)

BNNAAA

44) 9@ 349 A6FOR QISISE ABACUS § BACASU Q196 6919
QQUAIRT| 62Z Q6 BANANA d9g @00 6918 @l 6297

A) ANNAAB
B) BAANAN
C) ABANAN
D) BNNAAA

45) Look at this series: 10, 15, 30, 75, 225. Which number
should come next in this series?

A) 7275
B) 7875
C) 675
D) 750

45) 42 §0g g 69613 : 10, 15, 30, 75, 225 | 4Z §A6Q AQQE!
609 Q"G 2ITeI 98]?

46) If Aiscoded as 1, Bis coded as 2, ..... and so on, then
FACE can be coded as

A) 6276
B) 6145
C) 6135
D) 5136

46) A3 A @ 1 QIQ6Q, B § 2 QI96Q 6Q1Q QAU ... 8° 6247
QLR 691 AR VIR AN, 6669 FACE § 6918 @QIIRIER

Study the following information carefully and answer the
questions that follow:

Company ABC conducted two test programmes for their
line and staff employees to analyse their

managerial abilities. The test programmes were on decision
making and financial management.

The following table gives the number of line and staff
employees who attended these workshops,

classified as per the length of employment.
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Years of Total Number

Eence

Programme attended

Deciston Making ~ [Fnancial Management Hoth

Line  (Staff  flme  (Steff  Line  (Saf [Line St

Less than 4 Ll Ll i 10 13 100
3 yets

1

3tos ] i il il 1 54
years

0

Mote than | 4 4 bl 1 n om
S yeats

160

47) What percent of the employees with more than 5 years
of experience did NOT attend either of the workshops? Note:
Select the value nearest to the correct value.

A) 64
B) 14
C) 86
D) 50

48) What is the number of line employees with 3 to 5 years
of experience who did NOT attend the programme on
financial management'?

A) 80
) 190
) 140
) 60

49) How many employees with 3 and more than 3 years of
experience attended only one programme?

A) 210
B) 225
C) 260
D) 305

50) What percent of the employees who attended at least
one programme have more than 5 years of experience?

GOReE 9oRIg JQQ AT 0QY I° PI2Ig AGARE QYS!
0995Ra Qe f2g :

Q4131 ABC 6Q718& RIRE 98° @QIQIE AB0IRRIE0 286IQ
F6484 AR 908 AQIB QIGIQE 2ICAITE SRLeRI IR 6aQl
8 TIRRIFRIR AYICRSEFIS AU6R AT AIGAGFE 2GS

'

RN BIRGYE 609R T GAE06R 6AI0 6QRYRI RIBIAT 9Q°
RARAE QY QIR8, AI2Ig FYIR ATAAIA AQAID1 65410S
SR

o of Progrenme efended T b
et

Decson Mukng  Fiunse Magemest)  Bolh

e (Sf e S Lo ef [ (M
Lot | 4 X X 0 0O W
Iy
1) oo u & v U 4 9
s
M| 3 4 4 0 B U W W
Jyeus

47) 5 Q8Q 2@ AGRGI 31 AEIINIT F0aG 6960, A1 9o
IR 6A16T @ AIRGTER 6QIT 6RARILIR?
6916 : A0R ARG FRTHE QIR 9 K9G

com>
e )
SRR

48) 3 @ 5 2UQ ARSI Y AR AN LYY 6769, 6ALIT
'TREIGAUR MI6RFEIY’ QIIGAER 6AIQ 62906M?

A) 80
B) 190
C) 140
D) 60

49) 3 49° 3 A9Q 2RJ@ UGS Y3l 6REGRE 1A 6@eR 6AIT
QIIIGLI6R 6215 6TRER?
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50) 5 QEQ 2@ VRS YIS REVIANT RGP 660, T 23 AR
6915 GIRET6a 6K1IS 60RER?

A) 325
B) 23.33

C) 36
D) 30

Section 3- Computer Literacy

No. of Questions: 10

51) Which one among the following is an input device?

A) Keyboard
B) Monitor
C) Projector
D) Printer

51) FORYE AUQ 6966 I8 ARS BaIad 21667

A) @6910
B) a5gq
C) 6916994
D) deq

52) Which one among the following is NOT a social
networking application?

A) LinkedIn
B) Facebook
C) Amazon
D) Instagram

52) GRS AQ 6R60 9 6QT2AIR GQQ@IQ” E\QGG?‘E]Q QGQ"

A) AedR
B) 6aragq

C) 2IAeY
D) @eaigiq

53) Which one among the following is an output device?

A) Scanner
B) Keyboard
C) Mouse

D) Projector

53) FORYS ARIQ 6066 U@ ARGYY BN 26S?

A) 2IaQ
B) @69I¢
C) A1eq
D) 606999

54) Which is the hardware component is used to enter text,
characters and other functions like copy, paste?

A) RAM
B) Monitor
C) Keyboard

D) CPU

54) 6694, 2AQ I9° @d, 608 OF 2GR FINGFY 19Q FRQ!
QI 696 AIC6UR QAN MG §4?

A) Qiel (RAM)
B) AaeQ
C) G6qie
D) @@g (CPU)

55) 1 KB is equal to

A) 1024 MB
B) 1024 TB
C) 1024 KB
D) 1024 Bytes

55) 1 KB Q9 26

A) 1024 MB Qg
B) 1024 TB Q2
C) 1024 KB a2
D) 1024 Bytes Q@

56) Which one among the following is NOT a search engine?

A) Google
B) Yahoo!
C) Mozilla
D) Bing

56) AARYS AUQ 6@A6 I A6 Qfq §6L?

A) g9m
B) aug!

C) &eIem
) @

o

57) What is RAM?

A) Read Access Memory

B) Random Access Memory
C) Read All Memory

D) Read And Memory
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57) RAM @ géiga @'¢ ?

A) 6 21699 676710
B) QI4q 2639 676214
C) Q@ 2n 676710

D) 3@ 218 6716013

58) Which one among the following application is specifically
used for presentations?

) Microsoft Power Point
) Microsoft Excel
) Notepad

) Microsoft Word

A
B
C
D
58) GOAYE BIJERAR AUQ 69T 6T AR 6J6R6]AR Al
NRLE 99?

A) QIQERIAT, TIGIQ TNe
B) AIR6KIAT, Ig6dn
C) 6RI16QUIQ

D) AIREYIA aIg

59) Which is Private Network and belongs to that particular
organization?

A) Internet
B) Www

C) Extranet
D) Intranet

59) 69610 U9 QINGES 6RCUIF 266 e 622l 6A16d 98 Fae
Q°C0R 1IN FITY F6Q ?

A) R906RQ
B) 892909, (WWW)
C) 9991689

)

D) Q4169

60) What is the extension of Notepad?

Section 4- Pedagogy Educational Management
Policies and Evaluation

No. of Questions: 30

61) One of the major challenges in developing the inclusive
practise is

A) to understand the child from the social context and its
needs

B) to understand the child from the national perspective
C) to understand the student needs and teacher needs
D) to understand the child from the international
perspective

61) ASHERA ARUIA FRIH6Q IR YN AR 6208

A) AT A I9° QIR AIQAIRCIQ TRg G349
B) @I612 QR6RIEQ dnIg 984!

C) 219 ZQEIRs! 1e° JNee AIQaIa0lq 98al
D) 2iesieia 98619g anig 934l

62) In which of the following stages suggested by Piaget's
about cognitive development do children learn to represent
objects in various activities but not in a logical or organised
way?

A) Concert operational stage
B) Sensori-operational stage
C) Pre-operational stage

D) Formal operational stage

62) Jelsas @6l JRIFde FORYe BAGe QR UQ 6w
gdyaea dRIAIee GaR ANINRIN6R 926w gBRYR AaRIq
J0i3 33 I 9398 @9 A0 e gu?

A) @590 FAIR Ay
B) Q69e1-GaIae adug
C) ge-gaIne adye

D) Gaoa AN A

63) In the context of quality education, the role of a school
headmaster requires

A) Creating an extraordinary island of excellence

B) Liaise for resources, manage quality and document the
reports

C) Develop an action plan for academic and co-curricular
activities

D) Manage high quality educational instruction and
performance



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

SetId : 72138 2

WtsApp/Call- 8596976190

04-10-2021_B1_LIVE 40CT_Sanskrit Teacher

63) géIAR §81 aB6gN16Q 964 FNIRAQ GAIGTIRE @ QAR
MR F6Q7?

A) gda e AARIGE §19 98 @RSl

B) A9RQeR U9 6QISIEAIS 2RQ, JE9RI IRQIRR! @RS 9e°
F6QI59F @QI6Ae KAR

C) IQI6eI] 18° AR-TI0Nge RIMNRIC IR I I 6AISR!
alak g aala]

D) Q% gae8l A6 Aead 1e° AIdYeas aGeIRal /Ga!

64) Who heads education in a district?

A) DEO
B) Municipal Commissioner
C) CEO
D) BEO

4ad
daa (CEO)
G2 (BEO)

65) A question stem with alternatives for answers is

) Matching questions
) Complex questions
) Multiple-choice questions
)

A
B
c
D) Fill-in-the blank questions

65) 4@ 04 637 950 AAA Al 398 G2 ARSI 945] GRIAN

A) 600@ g4
B) &G6@ 949

C) @g 9e9 94
D) ga4aIe gadl @8el g9

66) Which of the followmg statements is TRUE about
development?

A) Development during the pre-school age is remarkably
slow

B) Development is most slow during the pre-natal period
C) Physical development reverts during the childhood

D) Development is never a uniform process

66) @19 QEAEA T2 AIRYS! FERYS 398 AUQ 6966 AGY?

A) 9IR-30UIR0 QAAER ARI4 QERIYNA VIFER (L9 26T
B) 999 9F 2Qu16a A4 A90IQ A8A 266

C) GRdsq 1010e T8 gRNIQER 94

D) Gai9 @2Id 99 QA9 gael ged

67) The examination pattern for grade 9 in the new scheme
proposed by CBSE is

A) No change has been made

B) 4 FA's and 2 SA’s held in approbate periodicity

C) Internal assessments of periodic tests and portfolio
D) Exams at the end of 2 terms for 100 marks

67) d@34Q@ (CBSE) §ial 938G 998 6AIFAI6a 64419 R
IR LI 6298

A) 6763 0GeER FAR FIZ

B) agQ1 919 aQu16q 4 FA's 9@° 2 SA's @9l

C) 9d419g6n QQIFER 2RSS JRYIAR 98° F JRYIAe
QaQl

D) 100 QI QIR 2§ 6¢1 68960 ARl /54!

68) The drafting of New Educational Policy 2020 was
headed by

A) Prof. Yash Pal

B) K Kasturirangan

C) T SR Subramanian
D) Prof. Krishna Kumar

68) 909 dIIR1E 2020 Q QI QIR 67FRER C2ARYRI?

A) g6araq 98 AR

B) 6@ @g0o@a

C) § 92 2Q ggaéneT
)

D) 96920 18 §AIR

69) A child presumes earth to be flat based on her direct
experience of the landscape around her. This is an example
of

A) Experience

B) Concepts

C) Schemas

D) Deduction

69) 9661 ORI G FIRAISER &SI AIBEAL @ AUIARY ARRG! ATER
2RIQ AR YER1G ANER 6Q1R AFAIR F6Q 1 921 QLR IR RQILAE
26g?

A
B
C
D

2ARRG!

I

FI6RIOG
UIBAIR AR

— e e e
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70) Authoritarian style of teaching and class management is
extremely

A) Consultative

B) Teacher - centric
C) Democratic

D) Student rights

70) SRIQISA YRIFINLIR 6801 99° 65611 IRRIREI 2D

71) Typically continuous and comprehensive evaluation is
done through the observation of students

A) For leadership, initiative, punctuality, quality of work and
accuracy

B) In consistency of work and the predictability of scores in
tests

C) By oral discussions that tally with the written
assessments

D) By conducting assessments periodically and
intermittently

71) QUIRGGs FASR ¥9° QUITR RIS BIAIRE OdY6RR¢
CIRIFIER GRILIN

A) 6398, Q47 AANIGETS], QG GELaI Ne° ARSI sl
B) @Idia B0 18° R1946R 6209 RIGAIR

C) 6ClgQ 2ICRITRI FIRI AL RS FJAIILS ALE 6@ Sii

D) 994096 e AZ6R AZER RYINR ad

72) By the end of the first year of life the infant feels concern
for another but his lack of role-taking ability prevents him
from doing anything about it. This kind of display is known
as

A) Passive distress

B) Active distress

C) Personality distress
D) Sympathetic distress

72) 91999 927 oUQ 689 VISR ¢ 2R IR T3 AR R6R
@3 010 RFial g2d AT ANGIQ RIS Gl 1T Fe6R @8 Q8eIg
QI8 R6a1 I ORIQ 9Rdaq @'4 QRIAN ?

A) 58a gaé
B) age aadl
C) Q42Qa aad

)

D) QeIgeaad aadl

73) A teacher conducts an activity asking students to record
their observations and inferences to be checked later by the
teacher. The activity

A) Assesses thinking skills

B) Observes student performance
C) Criteria-based assessment

D) Is holistic assessment

73) 964 J9R FISAIAT AT ANMEINE 9e° AQAIR 6Q@E
Q0QIQ @2 9@ AN AR CIK6R Qg JAE TN B
QAN QNIRRT

A) 087 6RlIR] ARRT R6R
B) 8187 @Idieael Ha18e q6a
C) AIRQe-ARIRS AR

D) QARgR gRUINe 26

74) How can tests be made more friendly to accommodate
language diversity?

A) Simplify test language, provide visual support and use
native language

B) Use only objective type questions that can be answered
in a word

C) Maximise the time allotted for assessments so as to
include even slow students

D) Develop separate spaces for assessments with helping
material

74) QI8 SRGIR ARG 969l QIR 961NGRY Aad 2R egRgd
RALIRAIRR?

A) CRIBE8 QITIG AR FAIAIR, BFAR AL gaIe

RALIR I° VNS BIF MR FNUAR

B) 629 9409 gRIQ 999ee QI9T0 KR JITIR Q80 1@
AR6Q QIR AR

C) RIS UR AINES ARG AAYS FEIAIR AT TN AR
RISAIAG 71 2SHS AR ARL

D) Qziee ARGl AEC RIS IR 92R 119 IR8e @aIAIR

75) ‘Evaluation’ is the process that

A) critically examines a programme.
B) excessively studies implementation
C) critically evaluates success rate

D) continually checks resources
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75) 'GRUISS’ 6208 1@ 9@el ARl

A) @ QIdI90 AAIVIR Q6 9018 @6Q
B) 210%y@ 29ARI0 QIIRIAE!

C) QRS 210Q AR AINEA RIS Q69
D) geIge QISR AYRYEY QI QaQ!

76) The challenge in using informal assessment is that

A) The data for the school administration is too varied
B) They don't represent valid spread of data

C) Itis not accepted by universities

D) They don't reflect how quickly the topic can be taught

76) 26FRIGR RIAE QSRR KRR YR 6208

A) GIRG QAIAR IR B2 A 920 @R 266

B) 6QrI6R QIsIA 63 G2Iaq 9BRR 993 QI

C) ¥2IQ MRMIR0YRR 928 @93 QIF

D) 62767 ATEG @68 AIZ 6 F00] 6966 919 IR
QARG

77) An examination like IIT -JEE or NEET is different from
the classroom assessments (CA) as

A) Standard testing are controversial while CA’s are simple
and easy

B) CA are easy while standard testing are complex and
difficult

C) There are no differences except in terms of the holding
authority conducting the exams

D) CA assess learning while standard testing compares
learning to national norms

77) ARRURG-6209 ¢ IGRT €8 AQ1AI 684192 FRUae (34)
019 6% 6903

A) Q199 JQ188 GRIA1A 62RYQIER6R QY (CA) §6e AR 16°
Q9% 268

B) QI9@ JQ1RE @5R 1e° 28R 6210gRI6R6% &4 (CA) Aee
266

C) CaIfl 0ACIRGI ARZA 62IRT FRONT NG1B IAIRT

e 6Mad aleiey QI

D) QI9@ 09184 §8Ig FI010 ¢ AE6 §R% @QARIERER

Q4 (CA) G160 2IRPE F6Q

78) A 5 year old child may group objects based on one
characteristic - say colour - while an 8-year old is likely to
group them based on more than one characteristic - say
shape and colour. This is due to a characteristic referred to
as

A) Classification

B) Logical thinking

C) Object permanence
)

D) Conservation

78) 1@ 5 odq 3 6915 2ORAE QA6A ARG 90 9396T 99
ROCIER - FI6R6Q  OFF - 6U60696R 68 8 Qi  GRl
G AYQ LRSS A06R RIS 98 62719G gY *ASIR QRISR!
2N - F6999 298 e QFfl Nl 1@ 6599y QIR 621NN,
QIRIQ Q6 QRIAN ?

<

A) Q41804
B) careq 680
C) 9g 911Q

)

D) €oad

79) One of the most important criticisms offered on
Kohlberg's theory of moral development is that

A) The stages of moral development are not associated
with reasoning

B) His theory did not emphasize concepts such as justice
C) The theory was gender-biased since all of the subjects
in his sample were male

D) The theoty exhibits an over-simplified format

79) 6RI2RQde 670 JRdQ ARIe AYREA SUARYR 9@
9Rgd AAIERISSI 62608

A) 6509 QIR OdYA9ER BR4 920 856 96L
B) olea J8I8 QUG QIR IREI RU6R YRR 6QARA
C) da1eC AG-0RTITE! YR KRG BIF FYRIER 291 AN

QA968Q 998 &6R
D) Q8I6E 1@ 26-20R90 TiIe gade a6

80) In designing an assessment a teacher will have to

) Be careful to see that the paper is not leaked

) Allot marks based on the length of the answer needed
) Ensure consistency with teaching goals

) Bring a large set of questions outside the syllabus

A
B
C
D
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80) 9@ RIILR CRIRR AALIEH F68 JINGT G'¢ AAQIq AFQ?

A) 9409 A] 7299 622 din 968 a&e!

B) 2IQ4Ie Q806 6304 QU6a ARIA @R FIE 624l
C) deIQIe gy ade a6l JA8e @4Q!

D) Ql0%Qg QIRIQ R 9F 99 698 AES

81) Unlike other forms of assessment portfolios are distinct
because they include

A) Comments by the teacher during the course of the
assessment unlike the regular ones

B) Teacher's thought processes and interpretations
instead of just scores

C) Student involvement in designing it and tracing
developmental changes over time

D) A varied type of questions unlike the similar ones in the
traditional assessments

81) JRIOAR Y FRIAR OF F6TR 9 JRYING (6ATETING)

QP A9 268 QIR9 6A9ER 2898 /a8

A) Gedie 08es dalKs ANN6R S8R A8aY

B) 6897 62IQ 06968 J9am SRR NS° QYIS @R 2

C) \2Ig BRIRG @09l 9e° Ane 96 FRISRR I0eeR
AGARIF FRASIER BIFT AAT 21

D) QI0A@e QRN ACIR 9RI0R 94 0hesa 85 gaIaa g4
arg

82) States which have initiated New Education Policy, 2020
are

A) Karnataka and Madhya Pradesh

B) Manipur and Rajasthan

C) Tamil Nadu and Telangana

D) Uttar Pradesh and Haryana

82) 609 AIGER 900 JAI 16 2020 20 @08\, 6AgER
62088

A) 24169 9e° FRIGESE
B) adiga Ie° QIeRIe

C) SiRQIR I9° 636RENIR!
D) QRQg6Ld 99° 2aki€l

83) A teacher uses the activity of drawing the map of a
classroom while introducing the concept of ‘scale’ .This
relates to

A) Experience physical world
B) Maintain equilibrium

C) Adapt to a new concept
D)

Develop understanding

83) @64 FFD '6IMQ I AASY FAIRS AALER IR 694152
QIR0Q PSR QOQI0 QIERID P08 Yl A9l 9G0 9567

A) 6016Q 9F2IR ARNTI IR FARS
B) Qinyeql aRlel age

C) 4@ 9o% Il ATE §I9 YIas!
D) QeIA4l 880 aaa!

84) National Curricular Framework, 2005 emphasised on
participatory democracy as one of the cores of educational
reform. An example that reflects this in schools is

A) A culture of deliberation, implementation and review of
curriculum, budget and other priorities

B) Making the subject of ‘Our Constitution’ mandatory upto
the higher secondary level

C) Teaching politics and civic subjects more extensively
and with strikingly relevant examples

D) Ensuring adequate and equitable compensation for all
stakeholders in a school

84) S191A AI0YQE QIBI, 2005 FAIGIE AAIRD ARISA (IR QIR
ZrAgRRIRT JE0a QUER JQRIEAIT GRMI, UIT IMNIFAER IR

Q204 Q6 gETRC Q6Q | G121 6208

A) I0IGR, F68T I8 AMIAY FIIFiReR FeIadad, AINIRIAE!
Q° QENRIR A°GE

B) @9 AkAR 3] adis '21n aRIS'a G80q QRIGIRS 2B
C) QIFR1E ¥9° QI00R FAgPq 2R MR 9&° S7IFIR ZIATR
Q91204 986 Gl 693l

D) 98 GQIRL6a UMY TIQIQTE QI TYIG 9e° QAR
B6Qed QREe aal

85) The ability of a child to think about the steps of a process
in any order is called

A) Reversibility
B) Transformation
C) Egocentrism
D) Reasoning

85) 1@ g0 6A6HIEA G160 gRAIR 09680 FBAEA T8 @ARIQ
[EGIQ §'6 GRIAN?

A) Gadiganaal
B) Is0d

C) 2Ig 6F5QQIQ
D) eageal
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86) Which of the following could be the right approach
towards helping students take charge of their own learning?

A) Expository approach - with clear planning and execution
B) Playway method - integrating activities in learning
C) Discovery method - a well designed project

D) Reciprocal teaching - building collaborative learning
community

86) AOMYS AUIQ 661E BIBAING A6 IAIEA QIR 639168 ARIKY
@091 Go6a A0} AU 6QARAEA?

A) 9R6IRESISN RAIGIF - 2 CAISR! I° QINKIT A2
B) 6964 084 - RC6Q QIdIRRINg IR1ge

C) URVIQ 98G - 99 OR GRING 6219991 gae

D) CIRgaR TR - AFRC S96 AFQIR FAI

87) In a diverse classroom with gifted children, the best way
to adopt instructional strategy is to

A) Provide for challenging supplementary activities

) Give extra time to complete their work
) Sitting with the gifted post-class and re-teaching them
) Have standard material suitable for all

B
C
D
87) 9GRIRIe JRINIE Q0 IR SR 65419267, FEREIART
QIR G248 RRQIQ LI AL 6208

A) gogRoIgd 2599 RIdIas! gaIR /ael

B) 67195 QIdY AAIY @ESIQ 250 AL 609

C) Q4 962 goaIcIe danies A6 o 6a0IRG gR8 FRIRIR
894

D) QA8e Cin AIRS AINGFR QARG

88) Gardner’ Multiple Intelligence theory is criticised on the
following front

A) The intelligences are inter-related and not separate
B) Absence of valid experiential basis for it

C) Doesn't account for the centralised working memory
system

D) Too simplistic and sweeps out vast nuances

88) 0I0AR & 'ag5 QAR eI ARG’ (AROA AEER6RY 46A)
q FORYe QU96R ACRISR KRS

A) 98 298-QQ1Q IG° ARG 962

B) 2aIal 65 2A9RERe AMIOR 2AGAEF

C) 6a91g0 QIdY 6A6AIA1 Aq7 AIR 3L @6Q AT
D) 26u@ A0R ¥e° 590 4U0Iq Q609 69Q

89) ‘Neural plasticity’ refers to

A) Is the process unique to human brain for new learning
B) The intense amount of inter-connections that pass
through brain

C) Integrated processes of learning and creative
approaches to problems

D) Certain skills learnt in childhood lasts for a lifetime

89) 'giaIR YEAG QIR 9OS @682

A) 999 §96 IR FIRe AZSR AGRY gaal

B) 7194 69R 60 QYS! 2IF8-A6INR G19 QLS
C) d9¢Q ANFE GT 99° QYRR SRR QUITIA
D) dndeq dgal @8 Q@9 IS1es 9221

90) Which of the following indicates the scope of of
Educational management?

A) Discouraging students unrest

B) Advertise about school achievements

C) Providing human and material resources
D) Maintaining religious identity

90) AARYE AuIQ 60T ABIE ARKIRRI A8QRg 956 @6a?

A
B
C
D

813 28I8g FQUTE @A

QAIRA ATRE! FAER TRIAG QR
199 Q° 66159 @2 gI8 @RS

(@ 0602 QFIL QYS!

— e e

1
e
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93) @1 Hfa: AR aRa?

A) AT T WA TEET U auiHTeT: e $i |

B) = faenfii=i wrienm: wafi | wifeEvei o o auikm e
7 I FEfa |
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B) wReen
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D) e

101) w5 v TuHSiereT TOI: W 7
A) g
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D) vy
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103) ariferRey a1 R AT SR
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